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STAR PUBLIC SCHOOL

Dear Parents,
Today's assignment ( class 2 nd)

'~ English - Lesson - 4 test

'~ English - Lesson - 6 | wonder why
( Back Exercises )

'~ Maths - ( Page number - 80 - 82)
in book & in notebook
'~ Dance For Rainy day

Home Assignment-

'~ EVS - Learn - 4 For tomorrow's
test

.~ Maths - Lesson - 5 ( Page number
- 83 & 88 in book) 2:31 pm v
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action on Number Line

€qually among 8 family members using number
e

)

Repeateq Subtr
Distribute 24 apples

Start fro
M 24. Move back 8 steps 3 times to reach 0.

’8‘8=0 16-8=8 24-8=16

Therefore, 24 - g = 3.

Q Divide by repeated subtraction on a number line.

(@) Distribute 15 pencils equally among 5 friends.
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Start from | - . Move back ~ steps . times to reach 0.
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o 1 2 3 4 5 6 7 8 9 10 11 12 13 ™
Start from '/ /L1 . Move back B | steps ©_ times to reach 0.
Therefore, '/ + 7| = 0. .
d Division

Relation between Multiplication an
We know that multiplication is repeated additio

subtraction.

P

n and division is repeated
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o, we can say that multiplication and division are opposite operations of each

other _—
There are tWo multiplication facts for each division fact and vice versa.

For example, the multiplication facts for 8 + 4 = 2 are 4 x 2 = 8 and 2 x 4 = 8.
The division facts forax2=8are8+4=2andg=2=4

G write the multiplication facts and division facts for the following arrangements
of shapes. One has been done for you.

(a) ﬁi_/ﬂﬁ? Multiplication facts :  3x5=15
A A Q) @ | S

Y y 5x3=15
‘ \/) Q \ —
[ a ———— Division facts : - 15+3=5
00000
. 15+5=3
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Long Division Method U ,
Let's divide 35 by 7 using long division method.
Write the numbers as shown. e Quoti,
Divisor —> 7 ) 35 <— pjy
Then use the multiplication table of 7 to / 35 eny
find the quotient. As 7 x 5 = 35,50 5 is Y,

the quotient. Write 35 below the dividend e
and subtract.

* The number which we divide is called
the dividend.

In word problems dividend stang
- for number of objects to be dlvlded

e The number by which we divide is ' Divisor stands for number of eq
groups into which objects neg

Called the @livisar: to be divided. Quotient stands f,,
o Theanswerwe getis called the quotient. | number of objects in each group

Therefore, 35 +~ 7 = 5. o -

0 Divide using long division and write the quotient.

(a) | (b) q () (d) p
7 ) 14 5 )45 6 ) 48 4 ) 24
— / _ }(’ Iy _ L _
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Word Problems

Carefully read the given word problem. To indicate division, following words

Surbhi has 24 chocolates. She wants can be used.

y

How many

to give equal number of chocolates Share oo ther
to 6 children. How many chocolates something | e
will each child get? equally. s

.

T For the Teacher —1

f Always emphasise on the word equal while stating word problem:s.

P



Nll'“h‘" of chocolates — 24
Numhm of children = 6 )
numbe! of chocolates each child will o
. 4
erefore, each child will get 4 24
es.
0

@ solve the given word problems

(a) Mansi's mother m
ade 36
han-t® pancakes. She distri
fher pc;\rj‘ig)‘/( amgng 6 members of the f::\:\”b‘:ed
es did each family member get? e

P — -

Each member got - pancakes

(b) Ah squirrel has 12 peanuts. She wants to distribute
these peanuts equally among her 3 babies. How many

peanuts does each baby squirrel get?

~ .
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Each baby squirrel gets . peanuts.

Think, Solve and Learn

ks for 5 of her friends. By mistake 2 soft drinks dropp
drinks equally among her friends.

did each of her frie

ed. She distribute

Ritu got 12 soft drin

the remaining soft
nd get?

How many soft drinks




1.

Divide by repeated subtraction. Correct the numbers in the circles wherever Needgq

@6+2=( < J16-(2)-(2)-(2)-(2)-(2)(2)-(2)-;
(b) 48 -~ 8 = 48 — | ‘ _ 7\‘\_/8‘)_"Q‘T)_Kb }’_‘/8 |
2. Write the division facts for the following multiplication facts.
(a) 7%X8= 56
(b) 9x3 =27 ) -2 q

3. Divide the following by doing repeated subtraction on a number line.

(a)

I | e
g f f } f —+ >

—t |
0123456 7 8 9101112131415
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6 7 8 9 1011 12 13 14 15 16 17 18

Ul

012 3 4

4. Solve the following word problems.

(@) Dhruv has 21 balloons. He wants to divide them equally with three of his friends,

How many balloons does each of them get?

N

Total number of balloons = 9| |

Number of children = f ’% » ; ) |

\ -

e - J

Each of them will have : [ | balloons. ,,)

Mohit had 45 strawberries. He divided them into 5 equal packs to share with his
friends. How many strawberries did each of his friend get?

Total number of strawberries = ’ | 5
Number of equal packs = | ., | ) N

15|+ §=;?]

Each friend got ' strawberries,




Learn Words
blow out : stop burning
fluffy : like cotton wool

suppose : think

Question Corner

A1. Answer the following questions. )

1. Who do you think is the speaker of the poem ‘I Wonder Why”? s
it a child or a grown-up? Which are the lines in the poem that give

us the answer?
Find words from the poem that are related to the words given

below.
nest

rest

round
fluffy
flash

A2. The poet wonders about many things. For example, ‘why the grasss
green’. Find two more ‘l wonder why’ examples from the poem.

Listen to the three sets of rhyming words. Repeat them after listening:
Add one word of your own to each list.

40 :



L_‘( \_&E Talk Corner

Question Game

The child in the poem has many unanswered questions. Do you have any
questions unanswered? Make groups of eight. Each child will come up with

a question. Maybe another child in the group knows the answer: You can
begin like this: '
. | wonder why wheels are round.

First child
second child :

RGN
@i ::5;; Creative Corner
) A':

D1. Wh
below. The first letter of eac

-----------------------------------------------------------------------------

at are the colours of a rainbow? They are given in seven boxes
h colour is given. Now write the colours.




ite four sentenc
D2. Two pictures are given below. Look at them. Write e
about each picture.




